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(mol/s)
@ J.Vac.Sci.Technol.A13.520(1995)

- 50x107"(Pa m3/s m?)
- 20x107"(Pa m3/s m?)

S m?
7 1
1 - 5.0x107" x—xS (mol/s)
RT
7 1
2 >  2.0x107" x—=—xS (mol/s)
RT
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J.Vac.Sci.Technol.A13.520(1995)
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P 0.5h
(Torr) (x10~® mol) (x10~®mol/s)
0.0263

0.283 2048 114

0.535 2011 112
1.02 3770 2.10
114 958 0.53
1.28 1117 0.62
149 1676 0.93
175 2075 115
1.99 1915 1.06
2.24 1995 111
2.46 1756 0.98
2.70 1915 1.06
291 1676 0.93
3.14 1835 1.02
3.37 1835 1.02
3.60 1835 1.02
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P 0.5h
(Torr) (x10~ mol) (x10% mol/s)
0.0276
0.298 2158 1.20
0.512 1708 0.95
0.726 1708 0.95
1.03 2426 135
124 1676 0.93
145 1676 0.93
173 2234 124
1.93 1596 0.89
214 1676 0.93
2.39 1995 111
2.62 1835 1.02
2.84 1756 0.98
3.10 2075 1.15
3.29 1516 0.84
3.52 1835 1.02
(h)
(x10~ mol/s)
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(mol/s)

. 50x1077 X%XSJO —0.74x10 " (mol / 5)

L 2.0x1077 X%XSJO —0.30x10 " (mol / 5)
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0.78
1.08 0.89 0.49
3.08 5.90 3.28
5.08 5.90 3.28
6.15 3.16 1.75
7.56 416 2.31
8.97 416 2.31
10.3 3.92 2.18
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11.8 4.43 2.46
14.2 7.08 3.93
15.6 413 2.30
17.1 4.43 246
18.6 4.43 2.46
21.6 8.85 4.92
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S=132x10"% m?
1 . 5.0x107’ x%x132x10*4 =0.26x10 Y mol /s
2 . 2.0x1077 x%x132x10*4 =0.11x10 " mol /s
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P 0.5h
(x1072Torr) | (x10"¥mol) (x107°mol/s)
1.60
191 229 12.7
214 170 9.44
2.37 170 9.44
2.63 192 10.7
2.86 170 9.44
312 192 10.7
342 222 12.3
374 236 131
4.06 236 131
441 258 14.3
4.80 288 16.0
519 288 16.0
() (x107 mol/s)
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L 5.0x1077 x%ons =9.64x10 M mol /s

L 2.0x1077 x%ons =3.85x10 M mol /s
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